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56.4 =8
D 0.75x8 =56.4 @ 75%x8=56.4
® 70.5x8 =56.4 @7.05 x 8 = 56.4

® 0.705 x 8 = 56.4
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56.4 + 8 = 7.05
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D21.6+6=36
@ 27.36 + 8 = 3.42
® 15.28 + 4 = 3.82
@ 26.11 +7=3.73
®195+5=39
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D 96+24-1.2 @ 96+24+1.2

® 9.6-1.2+24 @(9.6—1.2) +24
® (9.6+1.2)+24

S0l 9l Aol BA17H 9.6 kg ol A& U
g o] B @ kg 91

Sa4 24 A 9.6 - 1.2 = 8.4(kg)
a5 199 B 8.4+ 24 = 0.35(kg)

b ghe A8 (9.6 —1.2) + 24 YUtk
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D 13.5+3 @1.8+3 ® 87+6
@ 348+8 ® 125+12
(ol AlE )>(HFe ) ol (F)> 1
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(JZAF ) =[ Ix2
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Ao]Z+g o] el 41 12 4 2 = 14(70) YUt
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D 48.08+8 @ 2.85+3 @72.8 +14
@ 162+6 ® 72.8+8

B

@ 48.08 + 8 = 6.01
@ 2.85+3 =095
® 72.8+14=52
@ 1.62+6=0.27
®728+8=09.1




